==
N = 0] &F AF S & AN A
20148 = 20l A LBHS H A 0H QI = Xt
N E
CAHe EXNSA
DM sXsd (2 &HH)
x 5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ol = X 102,524,443 91,727,060 10,797,383
= 54,416,754
= 17,353,836
= 30,753,853
ool =XNs& 102,031,497 91,335,334 10,696, 163
= 54,105,460
= 17,353,836
== 30,572,201
el SXNSE 35,874,676 32,997,827 2,876,849
= 29,332,166
== 6,542,510
Hojeld=z X 25,271,046 22,348,342 2,922,704
= 22,392,066
& 2,878,980
308 XX SHHSOIH 25,271,046 22,348,342 2,922,704
= 22,392,066
& 2,878,980
01 AIXSHMEMNEX= 25,271,046 22,348,342 2,922,704
OHMeA= X 25,271,046
= 22,392,066
= 2,878,980
e X 6,078,860 6,078,860 0
= 5,386,332
& 692,528
308 XHXIEHMSOIA 6,078,860 6,078,860 0
= 5,386,332
& 692,528
01 AIKSHHEMNEXZ 6,078,860 6,078,860 0
O&FME=II=)X 2,929,017
= 2,595,332
= 333,685
OXMHLH(MHARAS )X 3,149,843
= 2,791,000
& 358,843
ol o =H| K& 1,337,818 1,337,818 0
= 1,244,482
o=t 93,336
308 XX G SO|IA 1,337,818 1,337,818 0
= 1,244,482
& 93,336
01 AIKSHMEMNEX= 1,337,818 1,337,818 0
OOl 2| 1,337,818
= 1,244,482
o= 93,336
0o XtHw=dl K& 38,137 38,137 0
= 35,476




AN HOHUSX 2t

g Foje sxsd

el Foje 2XEA (el:de)
SA - BB B () - MM - BES Ol &t o San HmEET
< 2,661
308 XXM SO A 38,137 38,137 0
= 35,476
< 2,661
01 IXNSHHBANEES 38,137 38,137 0
OF/ R DNIERME=Ja] 38,137
= 35,476
< 2,661
ol sE&HY X3 22,110 22,110 0
= 22,110
308 XXIEHH SOl A 22,110 22,110 0
= 22,110
01 HXNHHBHELS 22,110 22,110 0
OFMHAS =& I 22,110
= 22,110
ZOHQ MEtH X& 1,917,065 1,975,340 AB8,275
308 X EHSOIA 1,917,065 1,975,340 AB8,275
01 AXNSGHBLAEES 1,917,065 1,975,340 A 58,275
OZOHQ Maotd XI& 1,871,900
Oz HAY 12,000
OFOHel el A M CCTV &X XI& 33,165
SHEZ0HQ FEHIHALY K& 254,410 254,410 0
= 195,700
< 58,710
403 XS E A0l & 254,410 254,410 0
= 195,700
< 58,710
01 XM A=2EE 254,410 254,410 0
OsHEZ0M =4 = 254,410
= 195,700
< 58,710
ZOHeIEHES K& 511,534 417,600 93,934
201 Let24d] 14,734 35,000 A 20,266
01 At 22l 14,734 35,000 220,266
OZofel oI 2 T g 14,734
203 YR =&l 7,600 7,600 0
03 AIF=XH R =AH| 7,600 7,600 0
OZOMASX SAHRF 2,850
OHMA=SA AIHHR2FA 4,750
307 2201 A 461,000 326,000 135,000
10 A2l =S X2 X 461,000 326,000 135,000
OO EHXI TH & ALY 55,000




2N
X ZH -
L= B

el

ZOf el =Xl ot
ol sXsd
e sxsa

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OO AIN A& ALS 256,000
OHM31g d=Z2Z0eldlsHIIUa M= X 100,000
O&= XIMEOHC XIEXCHa W= XS 50,000
308 MXISHMSOIA 13,200 49,000 A 35,800
01 HXHHIMNEEXTZ 13,200 49,000 A 35,800
OEEHS REAAMEHMEH T2 X3 13,200
403 XX SHHS K20 & 15,000 0 15,000
01 XIS A2 X 15,000 0 15,000
OA2tAOHeIASH 3] &H 2 15,000
ZHOHQITHE AN KT & 144,000 144,000 0
308 XAHXIGH SO0l & 144,000 144,000 0
01 AIKISHHBENEXZ 144,000 144,000 0
OAZEOHQITHE AL 144,000
SOOI A E SRR ALY 111,210 111,210 0
308 MXISHHMSOIA 111,210 111,210 0
01 IXHAHNIMNEXS 111,210 111,210 0
Q&R AMER=EAH 111,210
HOo W=EAIS 70,000 70,000 0
= 56,000
o=t 14,000
307 212t0| & 70,000 70,000 0
= 56,000
o= 14,000
10 MM SXEX 70,000 70,000 0
OWEEH WEAIS 70,000
= 56,000
& 14,000
QIO AAMSARA 108,486 102,000 6,486
307 2iz2to| A 108,486 102,000 6,486
10 Ml S X EX 108,486 102,000 6,486
OHQoIAMASA 103,836
OXOMNQUDNRJAMASAX HRMA 4,650
HOIEXN20F HHUEA 2 10,000 10,000 0
201 gBt2Ad| 10,000 10,000 0
01 AP 2t 2| H| 10,000 10,000 0
OXMRUE2X20F HHEA 24 10,000
ORI XHE XIS 29,184,245 23,998,630 5,185,615
= 23,057,054
& 6,127,191
QXA THEANE 29 769,162 716, 149 53,013




RO OI= X B
DOl =NEA
EOfel KRR

SN HH-S(BN) - MBAY - B il HlnE2
307 glz2tol & 101,000 68,000 33,000
10 A3l =X 2 X 101,000 68,000 33,000
OS=su XA &AL 15,000
O3t 2 XA 86,000
308 XXM SO0 A 668,162 648,149 20,013
01 AXSGHBLAEES 668,162 648, 149 20,013
OFMHAEATHEANE 28 S X& 668, 162
ZOHIEATHEAILIISEZ K& 1,500,000 1,650,000 A 150,000
= 1,000,000
< 500,000
403 MtXISHH S A0l & 1,500,000 1,650,000 A 150,000
2 1,000,000
< 500,000
01 XM A=2E X 1,500,000 1,650,000 A 150,000
OFMHAXMATHEAE JIs2 1,500,000
= 1,000,000
< 500,000
ZOHQUMANE BHALSY 178,620 220,000 A41,380
= 63,000
< 115,620
307 21201 A 178,620 170,000 8,620
= 63,000
= 115,620
10 Al S X2 X 178,620 170,000 8,620
OFHMarE EIHAIE 29 157,500
=2 63,000
< 94,500
OZOHIMAZ THOHAIE SAX HRMH 6,120
OZSSHMHAMAS HIlEANE ¥ B 15,000
o XNgde XA 444,440 444,000 440
= 120,000
< 324,440
307 glz2tol & 270,440 270,000 440
10 AtSI =X 2 X 270,440 270,000 440
OZOMY NPMH&dyH 24 X 260,000
OO XNSMedE SAX MM 10,440
308 XX EHH SOl A 174,000 174,000 0
= 120,000
< 54,000
01 HXNHHNBMNEELES 174,000 174,000 0
OZOQ NgMedy 24 X 174,000
= 120,000
< 54,000




2N
e =SXsN

el

X ZH
S =

ZOf el =Xl ot

Zoel X

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZOHUESKA 18,185,643 14,826,289 3,359,354
2 15,405,000
= 2,780,643
307 glz2tol & 20,000 20,000 0
05 RIZHRI & 3 20,000 20,000 0
Oz &M 852X XNA(FIH) EXERA
23 20,000
308 XX EHH SOl 18,165,643 14,806, 289 3,359,354
= 15,405,000
< 2,760,643
01 HIXNHHNBNEES 18,165,643 14,806,289 3,359,354
OZOMQ X ALY 17,385,643
= 15,405,000
= 1,980,643
OEsEM #s2x X (FIH) 780,000
ZOHQ LXelAY XI& 4,373,552 2,323,345 2,050,207
= 3,384,066
< 989,486
307 gl2tol & 400,288 285,920 114,368
= 320,230
< 80,058
10 Al S X2 X 400,288 285,920 114,368
OZ2Y AI2Z0HQ!l CHOFAF IFA ALY 400,288
= 320,230
< 80,058
308 XXM SOIA 3,973,264 2,037,425 1,935,839
= 3,063,836
< 909,428
01 AXHHILEES 3,973,264 2,037,425 1,935,839
O&ofel sXxgxtel X 1,116,167
= 866,069
< 250,098
OZOQ HHZR0l X 2,857,097
= 2,197,767
< 659,330
ZO0iots JIEXNA 3,383,696 3,444,217 A 60,521
= 3,006,988
< 376,708
308 XXM SO0 A 3,383,696 3,444,217 A 60,521
= 3,006,988
< 376,708
01 IXNHHBNEES 3,383,696 3,444,217 260,521
Oggma A XI& 2,971,241
= 2,681,184
< 290,057




SH: BOHOI= D
HE: Zoje =SXNEA
Sl Zojel HE X

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OUHEL XA 184,487
= 167,580
= 16,907
OHOMRAINESXAAELE 54,000
O IPN= N 115,488
= 103,824
o= 11,664
OdE"EZSAKNHI A X2 38,700
= 36,000
= 2,700
OdESAMNEEX H2 X 19,780
= 18,400
= 1,380
oo BEIT XY 139,132 144,630 ~5,498
= 78,000
=} 61,132
308 MXISHMSOIA 139,132 144,630 AN5,498
= 78,000
= 61,132
01 IXHHIMNEEXTZ 139,132 144,630 N5,498
QOB EI| R X & 83,850
= 78,000
& 5,850
Q&M E& 2| XS 50,282
OZHUBAR HNMES)| XA 5,000
oo S3d=E=sXd 80,000 80,000 0
307 212t0| ™ 80,000 80,000 0
10 MM SXEX 80,000 80,000 0
OZjeIBEetAEH 2 70,000
OAZEHeIBHE 29 10,000
SHAMWCIIIZSXNIME &9 130,000 150,000 A 20,000
307 QI2t0| ™ 130,000 150,000 A 20,000
10 Al SR EX 130,000 150,000 A 20,000
OZHRUIIIESIAHEH 29 130,000
ZHOHel Al ES 36,972,576 34,338,877 2,633,699
= 1,716,240
= 17,353,836
= 17,902,500
HOMHAHF=AE JIs2Y NS 2,404,260 3,858,926 N 1,454 666
= 1,602,840
o 801,420
403 AIXSHME X201 N 2,404,260 3,858,926 A 1,454 666
= 1,602,840
o= 801,420




2N
X ZH -
L= B

el

=N IE
Zojel =NEA
Tojel AlMEE

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

01 HXSHH =L E

OZOMANFAIE JIsEL

o

2,404,260
2,404,260

1,602,840
801,420

3,858,926

A 1,454,666

oz
=2
e
=
o
=
sl
H0
02

AL

594,300

20,000
574,300

549,536

44,764

307 glztol &

H AL

594,300

20,000
574,300

549,536

44,764

o
r
ol
M0

0
oc Ao
an
x
m
o
~
~

ﬂ_
o

F

tor
S|
Hoo 1A
07 1@
M = 0
09 n
x
o
M0
02 02

O O O
Ol

O
o
o

oc

H AL

H AL

594,300
213,800

10,000
203,800

275,500

10,000
265,500

5,000
50,000
50,000

549,536

44,764

0
==
e
rg
10
=
I
e
Of
0x
=

H AT

230,000

25,000
205,000

210,000

20,000

307 21201 &

H AL

230,000

25,000
205,000

210,000

20,000

10 AlRISXIE2 X

OSEZMATAANLXN A EEH 2

OBYANE 4X TeUsdH 23

H AL

L

230,000

160,000

10,000
150,000

70,000

156,000
55,000

210,000

20,000

AT

122,762

30,000
92,762

122,762

307 glz2tol ™

AL

122,762

30,000
92,762

122,762

O
0z
2
re
Jm
e
Ho
Ob
=
1%
Ho
02

H AL

122,762

122,762

30,000
92,762

122,762

H AL

25,033,429

15,651,201
9,382,228

21,462,230

3,571,199

~




2N
X ZH -
L= B

el

=N IE
Zojel =NEA
Tojel AlMEE

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
308 XXt S0 A 25,033,429 21,462,230 3,571,199
& 15,651,201
< 9,382,228
01 IXNHHBNEES 25,033,429 21,462,230 3,571,199
OFM H=AE 29 24,967,000
=2 15,651,201
= 9,315,799
Ol HOoHel HE=AME 29 66,429
ANZEMHXNJALMEHZZ 1,397,750 1,376,660 21,090
308 XXX S0 A 1,397,750 1,376,660 21,090
01 AXSGHBLAEES 1,397,750 1,376,660 21,090
OANZ #=3tsddH 24 600,750
OAlZ ZHARELH 29 788,000
OxstEdSANSLEEH 3 9,000
ZONCIEHAAI S S ESHYI(XH) 276,000 99,000 177,000
308 XXM S0l A 207,000 30,000 177,000
01 HIXNHHBNEES 207,000 30,000 177,000
OAZZOHQ HOYAILXRAEEH 29 195,000
OZOHCIH AL AEHZ A 12,000
403 Mt SHHSA=0l& 69,000 69,000 0
01 X SHMA=E X 69,000 69,000 0
OFHOMIEYAILE 25 69,000
o= 24 5,289,809 4,884,395 405,414
& 1,597,635
< 3,692,174
201 LBt 8,700 700 8,000
01 At 22l 8,700 700 8,000
Oge=la diz 700
OFMA=SXNALEIIRASE 8,000
307 glz2tol & 5,272,109 4,766,695 505,414
& 1,597,635
S 3,674,474
05 RIZHRI &t 3 5,262,109 4,756,695 505,414
OFMU=EX2 2L (MR, 22, A1) 4,333,182
& 1,497,635
< 2,835,547
OOl =X2 SALAL MM 157,140
Q& =2AESAE 29 249,006
= 20,000
< 229,006
OZOMeIHI=XNEH2H 300,987
& 40,000




AN HOHUSX 2t

g Foje sxsd

Sl Mojel AlssE CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 260,987
OZlg ssd2td 24 130,143
=2 30,000
< 100,143
OZOMA=X2 SelX= At X & 65,051
OHe &dEds 29 26,600
10 A2l =S X2 X 10,000 10,000 0
OFel=X2 HNAMRNS 10,000
& 10,000
308 AXIEHHSOIA 9,000 9,000 0
01 IXNHHBNEES 9,000 9,000 0
OZZEZMe =252 29 9,000
ZOHASXAIE AHLA0E2E NFAY 127,980 153,576 A 25,596
= 113,400
< 14,580
308 XX EHHSOIA 127,980 153,576 A 25,596
= 113,400
= 14,580
01 AXHHILEES 127,980 153,576 225,596
OHMASKAIE dHEA01E2 NE 127,980
= 113,400
< 14,580
=2 =29 188,000 80,000 108,000
=2 10,000
< 178,000
307 2201 A 88,000 80,000 8,000
= 10,000
< 78,000
10 A2l S X2 X 88,000 80,000 8,000
OZMeM=s2 29 88,000
& 10,000
< 78,000
402 RIZER201 A 100,000 0 100,000
01 RIZEAt2E X 100,000 0 100,000
OZlHM=2 JIsEH 100,000
ZOHQIAZTHEAE 29 297,000 250,000 47,000
& 20,000
= 277,000
307 21201 A 297,000 250,000 47,000
& 20,000
< 277,000
10 A2l =S X2 X 297,000 250,000 47,000
OZOMCICIZTHEANE 2 S 297,000
& 20,000




2N
X ZH -
L= B
el

=N IE
Zojel =NEA
Tojel AlMEE

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
| & 277,000
SOHQIAIE S AR MR & HI 479,286 478,080 1,206
307 212t01 & 32,298 54,000 N21,702
10 M3ISXIEX 32,298 54,000 N21,702
O HOQOISAIE SAX HRIMA 32,298
308 AKX SHHSOIA 446,988 424,080 22,908
01 AXNHMIAEES 446,988 424,080 22,908
OAZEOC0IZ2AIE SAKN HRMA 90,988
OANZEHOMNAHFTAIE SAXN HRMA 237,000
O S ES =S 119,000
SZOHCITHEAAE JsES 532,000 694,712 N162,712
402 212t X201 & 10,000 694,712 NB84, 712
01 QI2t X2 x 10,000 694,712 N684,712
OAIZEMASEX 2 JsE2d 10,000
403 ItXIHXMSA201H 522,000 0 522,000
01 XX SHMAA2E X 522,000 0 522,000
O=4& HoelsXa AHE 500,000
OXL MESAY JsE22 10,000
OFf=ER 2 HAIE &X 12,000
ZO0H0IIE Ols =X 444,706 347,256 97,450
= 311,204
& 133,412
ZO0LIIE Ols =& 444,706 347,256 97,450
= 311,204
& 133,412
SOOI B OIS Y E X 444,706 347,256 97,450
= 311,204
& 133,412
307 212t01 & 444,706 347,256 97,450
= 311,204
& 133,412
10 MaISXEX 444,706 347,256 97,450
O&oIIIE &= K& 444,706
= 311,294
= 133,412
HY2FHY (HoH =X 1) 48,240 44,470 3,770
R 48,240 44,470 3,770
JI2HH (20 =X ) 48,240 44,470 3,770
201 et A b 22,800 20,900 1,900
01 AFR2 2t 2l dl 22,800 20,900 1,900
OXMU=SK LRFX 22,800




2N

ZOf el =Xl ot

M HY2IZH (ZOHA=SX)
& 123l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 o4dl 22,440 20,570 1,870
01 = LH o4 1l 22,440 20,570 1,870
OXMe=R R2=A 22,440
203 YR =2t 3,000 3,000 0
Sl 3,000 3,000 0

3,000




